[image: image1.png]Risk Matrix

PROBABILITY
CONSEQUENCE A B o D E
1 6 10 10.5
1] R10 4 R1-10 7 LTRo11 M itreotor (¥ Lo
]} TRIR10+ 9 TRIR1-10 12 triRo1 16 tRIRO0101 |18 TRIRO
v 13 14 17 19 20
Risk Level: I  E— ————
Higher Medium Lower
CONSIDERATIONS
CONSEQUENCE HEALTHISAFETY
- One or morefatalties
| - Serious long-term heatth impact on public
- Permanently disabling injury
" - Serious lost time injury
- Minor lost time injury (ankle sprain)
m - Medical aid injuries
- Restricted work
[\") - First aid
Probability Definition Lowest Probability TRIor LTI Frequency /200,000 hr
A Possibilty of repeated incidents 10%/ year >10
B Possibility of isolated incidents 1%/ year >1
C Possibilty of occurring sometime 0.1%/ year >01
D Notlikely to occur 0.01%/ year >001
E Practically impossible approaches 0 £0.01

For use only





